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Conclusions we've drawn from A <,,, B:
- If B is decidable, then A is decidable.
- If B is recognizable, then A is recognizable.

-A<, B
- If B is co-recognizable, then A is co-recognizable.
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In order to apply Rice's Theorem, we need to check:
- Erpm is not @: it contains at least one machine, for example "on input x: always reject”
- Erpy isnot Lyy: it does not contain at least one machine, for example "on input x: always accept”
- Ery isaproperty: If L(M;) = L(M,) then either they both equal @ (so < M; >,< M, >€ Ery, or they both
are something else, and < M; >, < M, > not € Epy.
Thus we can conclude by Rice's theorem that E;;, is not decidable. O
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